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Math 1410: Quiz 1

Please show all your work for computations, and write your final answers in the boxes.

1. Sketch a graph of a function whose domain is [-2, 2] and whose range is [0,3]. Draw on the axes the
domain and range as intervals, and clearly label the endpoints of the intervals. The function can look
however you want, but it should have the correct domain and range.
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2. Find the z-intercept of the function h(z) = 3z — 1. [Hint: Remember that the z-intercept is a point, so
you should write both the z- and y-coordinates.]

z-intercept is




3. Sketch a graph of the following function, identifying the endpoint(s) for each case. Determine the initial

value of f(2) and calculate f(2). _
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4. A function g(?) is given as a table below. Compute g(1), g(4), and the average rate of change from t = 1
tot=4.

g(1) = g(4) = ARC from 1 to 4
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